ASSEMBLY INSTRUCTIONS
INSTRUCTION D'ASSEMBLAGE

Thank you for purchasing this product. Please check to ensure that all
parts are included. Contact place of purchase for any service issues.
Keep this document for reference in case parts are needed.

Nous vous remercions d’avoir acheté ce produit. Veuillez vous assurer
d’ovair toutes les piéces. Nous vous conseiflons de contacter Nendroit ol
vous avez foit votre achat si vous nécessitez un service quelcongue.
Veuwillez conserver ce document & titre de référence si vous avez besain de

pieces.

* THIS ITEM IS NOT RECOMMENDED FOR COMMERCIAL USE *
* CET ARTICLE N’EST PAS RECOMMANDE POUR USAGE COMMERCIAL *

page 1 of 7



@ ASSEMBLY INSTRUCTION
WHI Instruction D'Assemblage
Item No/ARTICLE:101-857D/Q-GARY

EASY/ ° ° ° @ @ DIFFICULT/ *2 Persons recommended /
FACILE DIFFICILE *2 Personnes recommandeées

I4
ASSEMBLY RATING DIFFICULTE D'ASSEMBLAGE
The Assembly Rating is a S5-point system that shows the Le code de montage est un systéme de 5 points qui montre le
degree of effort needed in assembling a specific product degré d'effort nécessaire pour assembler un produit spécifique

(with 1 being easy and S being relatively difficult).For

(1 etant facile et 5 étant relativement difficiles). Pour certains
some products,two persons are recommended.

produits, deux personnes sont recommandés.

Do not tighten screws until completely assembled./

NE SERREZ PAS DE VIS AVANT QU'IL NE SOIT
COMPLETEMENT RASSEMBLE.

page 2 of 7




** IMPORTANT **

MUST READ BEFORE ASSEMBLY!

FOR ¥OUR FURNITURE T LAST, CORRECT ASSEMBLY AND PROFER MAINTEMNANCE ARE NECESSARY,
PLEASE FOLLOAN THE TNFGEMATION PROVIDED BELOW TO FULLY EMNIOY YOLIR FLURNITLRE

BASIC ASSEMBLY TECHNIQUES

Bredare attaching @ach of the sorews,
make sure that the smaller lock

washer is between the larger washer
arul the Repd alf Pue serow.

Some furniture come with cptional
height adjustment knokbs
undermeath each k=g, Turn this knob
counterdockyiza to raise the leg lovel
o CocKwiEe o ower the lisg level

A

Pasition each par commecty and insed
all scraws inta their respactive holes
Thn, hand-tighten onby until 70%
tight, Comiphete Bghtening with the
teals will come at 2 later SER.

Make sure the furmitung fests an &
fMat and level surface with sach leg
evenly touching te around. Use a
saft Wanket or carpet underneath
when tuming the piece an its side.

N
L W C
CLOCHWISE
TOTIGHTEN

Finally, make sure all parts ard
properly aligned then use the ndluded
tools bo completsly tghian the
soriews, Your formfture is now ready
T use,

~1 4

TOOL BOX

Store the tools for later mainkenance

Tighten the screws aosn after bao
{2) weaks, and than at [east once
evary six [6) months after thal

IT IS THE USER’'S RESPONSIBILITY TO MAINTAIN THE FURNITURE. THE SCREWS MAY
LOOSEN OVER TIME AND CAUSE THE FURNITURE TO BE WOBBLY AND UNABLE TO
SUPPORT ITS INTENDED WEIGHT CAPACITY. THIS CAN LEAD TO COLLAPSE AND CAN

CAUSE SERIOUS INJURY.

FAILURE TO FOLLOW THE GUIDELINES ABOVE MAY
RESULT IN INJURY AND/OR PROPERTY DAMAGE.

page 3 of 7



** IMPORTANT **

DEVEZ LIRE AVANT ASSEMBLAGE!

POUR QUE ¥0T

FiE NELGLE DURE LONGTEMPE, IL EST NPT

AMNT DE LASSEMBLER ET DE LENTRETENIR CORRECTEMENT

POUR PROFITER PLEINEMENT DE YOTRE MELBLE. VEUILLEZ SUNRE LES INDICATIONS Cl-DESEOUS

Avant de sarrer chacune des vis,
assurez-vous guz la patite rendalle
de Blocage S frouve @n ka rondello
olus large st la téte de i3 vis,

4

Cartalns meubles sont gotds d'une
¥is de réglage de la hautewr sous
chague pied. Tourne: oe boulon wers
Iz gauche pour augmenter (2 nivasu
du pied ou cans le sens homalre pour
abaizser e niveau do pied

ASSEMBLAGE

i

Pasitionnes correctment chatune des
peces e Inserez l=s vis dans leurs
orifices respeciife, Puds sormer & [a
main seulement jusqua 0 %
Resserrement complabe avec les
puties viendre & une élape ulberieure,

Asguraz-vaus gue e meuble repose
sUr une surfece plane et 3 nivaay,
gl chague pied touche gu sl
Litillser une ooweerte douce au un
tapss an dessous en tournant la pleca
sUF I et

lltlt.t OANE
LE SENS
HORAIRE

Line fais que vaus &les Esusd que

chague plece ast algnae comectemant,
utiliseer fes oubils inclus pour bien serrer

toutes e vis. Vous pouves mamtenanl
utiliser votre meubls

-

6 TOOL BOX

Ranger es ouiis pour niutiliser plus
tand, pour efecteur entretisn de
votra meuble. Apres deux (2)
semainet dulilisabon, semer de
nouvesy leg VIS, SEFTEZ-ES Ensuite
i micins ume fols bous fes six (8)
s,

L'UTILISATEUR A LA RESPONSABILITE DE FAIRE L'ENTRETIEN DE SON MEUBLE. AVEC LE TEMPS, LES VIS
PEUWVENT SE DESSERRER; LE MEUBLE PEUT DEVEMIR BANCAL ET NE PAS POUVOIR SUPPORTER SA
CHARGE NOMINALE, CETTE SITUATION PEUT CAUSER UNE CHUTE ET DES BLESSURES GRAVES.

LE FAIT DE NE PAS RESPECTER LES CONSIGNES CI-DESSUS

PEUT ENTRAINER DES BLESSURES OU DES DOMMAGES.

page 4 of 7



PARTS INDENTIFICATION / identification des pieces HARDWARE LIST/Liste du matériel

NO| Shape/FORME |Specification/CARACTERISTIQUES|Quantity/QTE | | NO |Shape/FORME Specification/CARACTERISTIQUES Quantity/QTE
Headboard / A e BOLT /BOULON M6 x 40mm 13PCS
1 / Panneau de chevet 3PCS B P BOLT /BOULON M8 x 20mm 8PCS
Footboard / . C | - Allen wrench/arrache d'allen M4 1PC
2 & Panneau de pied D K Allen wrench/arrache d’allen M5 1PC
E - CSK/Vis M4 x 32mm 12PCS
3 Side Rail / Montures 2PCS F CSK/ Vis M4 x 50mm 4PCS
FLAT WASHER /
Headboard Leg / G RONDELLE PLATE 9PCS
2PCS LOCK WASHER /

4 Panneau de chevet Pieds H @ RONDELLE DE BLOCAGE 9PCS

& | é Adjuster / Q 4PCS
5 Footboard Leg / 2PCS {2 |

‘ Panneau de pied Pieds

Wood Slats /
6 — Lattes bois 4PCS
Support Leg/

7 Pieds de support 4PCS
8 \ Headboard Support Wood / 1PC

NE SERREZ PAS DE VIS AVANT QU'IL NE SOIT
COMPLETEMENT RASSEMBLE.

page 5 of 7



fandi.mohamad
Sticky Note
Translate

fandi.mohamad
Sticky Note
Translate


STEP 2
ETAPE 2

STEP 3
ETAPE 3

ATTENTION:
Please keep the adjuster around 5 to 8 mm
distant away from the floor.

Do not tighten screws until completely assembled./

NE SERREZ PAS DE VIS AVANT QU'IL NE SOIT
COMPLETEMENT RASSEMBLE.

page 6 of 7




Do not tighten screws until completely assembled./
NE SERREZ PAS DE VIS AVANT QU'IL NE SOIT

COMPLETEMENT RASSEMBLE.

page 7 of 7



